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Index: 0, Unicode:

Nodes: 230, Contours: 5
BBox: (0, 0) - (2800, 196)
LSB: 0, RSB: 2, Width: 2802

[

Index: 2, Unicode: 0063
Nodes: 124, Contours: 5
BBox: (0, 0) - (2800, 288)
LSB: 0, RSB: -2, Width: 2798

e

Index: 4, Unicode: 0065
Nodes: 97, Contours: 6
BBox: (0, 0) - (2800, 456)
LSB: 0, RSB: -2, Width: 2798
Ish: 108, rsh: 98, width: 2592
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Index: 6, Unicode: 0067
Nodes: 243, Contours: 11
BBox: (0, 0) - (2800, 456)
LSB: 0, RSB: 6, Width: 2806
Ish: 45, rsh: 49, width: 2712

i

Index: 8, Unicode: 0069
Nodes: 267, Contours: 13
BBox: (0, 0) - (2800, 164)
LSB: 0, RSB: 2, Width: 2802

k

Index: 10, Unicode: 006B
Nodes: 124, Contours: 1
BBox: (0, 0) - (2800, 156)
LSB: 0, RSB: -2, Width: 2798

m

Index: 12, Unicode: 006D
Nodes: 146, Contours: 2
BBox: (0, 0) - (2800, 156)
LSB: 0, RSB: -2, Width: 2798
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Index: 14, Unicode: 006F
Nodes: 189, Contours: 18
BBox: (0, 0) - (2802, 220)
LSB: 0, RSB: -4, Width: 2798
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Index: 16, Unicode: 0071
Nodes: 244, Contours: 6
BBox: (0, 0) - (2800, 160)
LSB: 0, RSB: 6, Width: 2806

S

Index: 18, Unicode: 0073
Nodes: 136, Contours: 5

BBox: (0, 0) - (2800, 724)

LSB: 0, RSB: 2, Width: 2802
Ish: 1085, rsb: 1087, width: 630

u

Index: 20, Unicode: 0075
Nodes: 130, Contours: 1
BBox: (0, 0) - (2796, 308)
LSB: 0, RSB: 14, Width: 2810
Ish: 1390, rsb: 1396, width: 24

w

Index: 22, Unicode: 0077
Nodes: 153, Contours: 2
BBox: (0, 0) - (2800, 200)
LSB: 0, RSB: 6, Width: 2806

y

Index: 24, Unicode: 0079
Nodes: 193, Contours: 1
BBox: (0, 0) - (2800, 208)
LSB: 0, RSB: 6, Width: 2806
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Index: 1, Unicode: 0062
Nodes: 473, Contours: 27
BBox: (0, 0) - (2786, 305)
LSB: 0, RSB: 16, Width: 2802
Isb: 846, rsh: 889, width: 1067
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Index: 3, Unicode: 0064
Nodes: 125, Contours: 5
BBox: (0, 0) - (2800, 288)
LSB: 0, RSB: -2, Width: 2798

f

Index: 5, Unicode: 0066
Nodes: 237, Contours: 11
BBox: (0, 0) - (2796, 456)
LSB: 0, RSB: 10, Width: 2806
Ish: 0, rsh: 10, width: 2796
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Index: 7, Unicode: 0068
Nodes: 271, Contours: 16
BBox: (0, 0) - (2800, 164)
LSB: 0, RSB: -2, Width: 2798
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Index: 9, Unicode: 006A
Nodes: 146, Contours: 2
BBox: (0, 0) - (2800, 156)
LSB: 0, RSB: 2, Width: 2802

|

Index: 11, Unicode: 006C
Nodes: 278, Contours: 22
BBox: (0, 0) - (2800, 164)
LSB: 0, RSB: 2, Width: 2802

n

Index: 13, Unicode: 006E
Nodes: 174, Contours: 15
BBox: (0, 0) - (2802, 192)
LSB: 0, RSB: -4, Width: 2798

p

Index: 15, Unicode: 0070
Nodes: 298, Contours: 11
BBox: (0, 0) - (2800, 164)
LSB: 0, RSB: 2, Width: 2802

r

Index: 17, Unicode: 0072
Nodes: 166, Contours: 6
BBox: (0, 0) - (2800, 428)
LSB: 0, RSB: -6, Width: 2794
Isb: 296, rsh: 290, width: 2208

t

Index: 19, Unicode: 0074
Nodes: 367, Contours: 5

BBox: (0, 0) - (2800, 484)

LSB: 0, RSB: -2, Width: 2798
Ish: 1048, rsh: 1044, width: 706

\%

Index: 21, Unicode: 0076
Nodes: 142, Contours: 1
BBox: (0, 0) - (2800, 316)
LSB: 0, RSB: 2, Width: 2802
Isb: 996, rsb: 990, width: 816

X

Index: 23, Unicode: 0078
Nodes: 162, Contours: 2
BBox: (0, 0) - (2800, 196)
LSB: 0, RSB: 2, Width: 2802

z

Index: 25, Unicode: 007A
Nodes: 140, Contours: 3
BBox: (0, 0) - (2796, 228)
LSB: 0, RSB: 2, Width: 2798



